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1.2 41{a] {5 ZPLPrinterHelper
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= BT

2.1 BRI

ZPLPrinterHelper mZPL=ZPLPrinterHelper.getZPL(mContext)
mZPL.PortOpen(portSetting)

S8
mContext @ | N3C¥HfH o
portSetting : ”Bluetooth,”+MAC = ( MAC : BE LRkl )
(i
0 : ZPERLT) -
-1t AL -
ErhE
Public static boolean PortClose()
B
mZPL.PorClose()
i
true * EFERIY
false @ EFAALHL -
B Em
public static boolean IsOpened()
FE

S (B B B SIS P A BERA - B IS TR RS AR T S e B T A -
ClERE

ZPLPrinterHelper.IsOpened()



R[]

true © BESFCUEHPE o

false * B oF R
2.2 WIFI i

JEHE WIFI

public static int PortOpen(String portSetting)
B

ZPLPrinterHelper mZPL=ZPLPrinterHelper.getZPL(mContext)

mZPL.PortOpen(“WiFi,”+IP+”,”+PortNumber)
IP:E[IFA%AT 1P HEdE -
PortNumber : 3& - BRZ7 : 9100
AXe]
0 : ZPERLT)
-1 RN -
E7Bd WiFi :
Public static boolean PortClose()
Bl
mzPL.PorClose()
AXe]
true * EFARCL]
false : EFASHY -

WiFi 235



public static boolean IsOpened()
B~
ZPLPrinterHelper.IsOpened()
AX[E]
true © ELEEPE o
false : JRiHEE o
2.3 USB
L USB ¢

¥
public static int PortOpen(UsbDevice usbdevice) 1

B+
ZPLPrinterHelper mZPL=ZPLPrinterHelper.getZPL(mContext)

mZPL.PortOpen(usbdevice)

usbdevice : UsbDevice (¥} 5

prd[E]
0 : FHPERT) -
-1 B -
ETEH USB :
public static boolean PortClose()
B+
mzPL.PorClose()
X[l



true : EFBART
false : BETRFELRT -

USB B

public static boolean IsOpened()
Bl

mZPL.IsOpened()

XA

true : TLMEEFE o

false : R7HPE o
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3.1 IE&BIA

B
int start();

AX[a] -
IO © TEH - BHIEH -

B -
mZPL.start();
mZPL.printText(“0”,”0”,5,”N”,3,” TEXT");

mZPL.end();

3.2 S E FEIR
PR ¢ int setXY(String x,String y);
S8

X : HRAH -
Y el -

] ;
KIS0 TE# - SHIERE -



3.3 fRERES R

BRI
int end();
(I
KRB0 I > AR -
BIr-

mZPL.start();
mZPL.printText(“0”,”0”,5,”N”,3,” TEXT");
mZPL.end();
3.4 MMLBHBRTE <

T
int FD(String a)

S8
AL SR

X[e]
KL 0+ 1B » SRR -

B
mZPL.start();
mZPL.setXY(“0",”0");
mZPL.FD(“TEXT”);
mZPL.FS();

mZPL.end();



3.5 WMz 45 RiE<
BRI
int FS();
X[E] -
KF2 0 IEH - BHIFRE -
B~
mZPL.start();
mZPL.setXY(“0”0");
mZPL.FD(“TEXT”);
mZPL.FS();

mZPL.end();



3.6 FIENRE

S
int PW(String a);
S
A:EE (indots) -
il
KW 0 TEH » AHIE -
IR
mZPL.start();

mZPL.PW(“100”)
mZPL.setXY(“0”,”0”);
mZPL.FD(“TEXT”);
mZPL.FS();

mZPL.end();



3.7 FIENTT HANEAE 5=

B

int FW(String rotate,String justification)

rotate : FIEJ7 [ » HUEZT T -

S8
N p—ry
R p—ry
I p—ry
B p—ry

Justification

(I

normal
rotated 90 degrees
inverted 180 degrees

bottom-up 270 degrees, read from bottom up

PEIEDTEC HUEATT

left justification
right justification

auto justification (script dependent)

KB 0 I > AR -

BIr- -

mZPL.start();

mZPL.FW(“N”,”0")

mZPL.setXY(“0”"0");

mZPL.FD(“TEXT");

mZPL.FS();

mZPL.end();



3.8 FIEIE &R
PR -
int printLine(String w,String h,String t,String c,String r);
SHL

w EARAYEE - (1732000 EAr L)

5

H @ EERAYEE - (1732000 B &)

/

T: GRRAVELE - (1732000 BEfIL Hf)

C: R{FRAVBA

B=black ; (Brz : B)

S

W=white ;
R * [EIEHYINE (078)
X[E]
KRB0 - I BHAIRE -
Bl
mZPL.start();

mZPL.setXY(“0”"0");

mZPL.printLine(“100”,72",72”"B",”0”)//%1E] 100 B5& » 2 BhE 4R

mZPL.end();



3.9 5IEIH
BRI
int printCircle(String d,String t,String c)
S8
d: [BIHYERL (3~4095) -
t: BEERF (174095) -
C: &RIFREAE -

B=black ; (®Rz7 : B)

W=white ;
AR[E]

RFL0 - IR BRI -
- -

mZPL.start();
mZPL.setXY(“0””0");
mZPL.printCircle(“100”,"2",”"B")

mZPL.end();



3.10 FIEIRHR
PR -
int printSlashLine(String w,String h,String t,String c,String o)
SHL
w RIERHVREE (3v32000) -

H : RHERAYEEE (3v32000) -

4

T 4RIREE (1732000) -
C : RIREHCED -
B=black ; (BrZ{ 1 B)
W=white ;
O : RIRAYITIA
R (or /) = right-leaning diagonal
L (or\) = left-leaning diagonal

(BEE © R)

AX[E]

K0 IER » BRI -
Bl

mZPL.start();

mZPL.setXY(“0”"0");

mZPL.printSlashLine(“100”,”100",”2",”B""R")

mZPL.end();



3.11 s EIRERIR R E
BRI
int LH(String x,String y)
S8
X o JRBLAREAAE -
Y ¢ BRI AR -
(I
KB 0 IR > AR -
BIr-
B
3.12 B RES
T
int LS(String a)
SR
a: fmigE (-9999~9999) HENRFARwE > (B 0) -
XA
KIL 0 IR > BHIEE -
B
mZPL.start();
mZPL.LS(“20”)
mZPL.printText(“100”,”100”,5,”N",3,”TEXT");

mZPL.end();



3.13 BEXF P (I EEHATT)
int TB(String a,String b,String c)
SHL
a : XFIFIA
N = normal
R = rotate 90 degrees clockwise
I = invert 180 degrees
B = read from bottom up-270 degrees
b 1 SIFITHRAVEE
¢ XFITBRAVEE -

(I
KRB0 I > AR -
BIr-

mZPL.start();
mZPLTB(“N",”300","300")
mZPL.printText(“100”,”100”,5,"N",3,"TEXT");

mZPL.end();



3.14 T 4EHE
PR -
int printQRcode(String x,String y,String orientation,String
magnification,String size,String data)
SHL
X RS o
y ¢ HERBHE -
orientation : Jj[a] (N) o
magnification : &, :
1=l -
2=JlI585E 2 -
B (2)
size : K~ (1~10) -
data: “HEREHIAE

AR[E]

RFL 0 IEH - SRISE -
il

mzPL.start();

mZPL.printData("~CI14\r\n");
mZPL. printQRcode(“10”,”10"”,”"N",”2”,"5" "abc123");

mZPL.end();



3.15 {515
PR -
int printBarcode(String x,String y,int type,String orientation,String
height,String f,String data)
2
x © TR AAfE o
y ¢ HERBHE -
Type - {FREAAL -
0=39
1=EAN-8
2=UPC-E
3=93
4=128
5=EAN-13
orientation @ J3[q] :
N = normal
R = rotated 90 degrees (clockwise)

I

inverted 180 degrees

B = read from bottom up, 270 degrees
Height : {(&EE S & (1-32000) -
F RSN AR (TRERY)

Y = yes



AX[a]
KF2 0 IEH - BHIFRE -

B
mZPL.start();
mZPL. printBarcode(“10”,”10”,”0”,"N",”100","Y""123456789");
mZPL.end();

3.16 %I[E[I[E
PRI

printBitmap(String x,String y,Bitmap bmp)
SHL

X EEARHY X FEAE o

y : EEIBHY Y FEAR

Bmp : [& / YfF -

AR[E]

RFR0 2 IEE » BHIERE -
{1l

mzPL.start();

mZPL. printBitmap(“10”,”10”,bitmap) ;

mZPL.end();



3.17 SR EPIRRE

PRI
int WriteData(byte[] bData)
S8
bData : FEBLEENRIERVERT
AX[a]
RIL 0 IER - &AISRE -
BilF-
mZPL.WriteData(byt)
3.18 SEEIR L
SEE I
byte[] ReadData(int outTime)
SE:
outTime : FEIFHIFHE (FALFP) -
R[]
SE R -
B+

mZPL.ReadData(2)



3.19 EIRE
S
int selfTest()
i
KW 0 TEH » AHIE -
IR

mZPL.selfTest()



3.20 FIEINCA
JER ¢ BB OO A RS > SR IR0
PR -
int printText(String x,String y,int type,String orientation,int
size,String data)
SHL
x * FEALEE o
y © HRsAAE
type : FHg (076 @ FISZHER > 7 1 tfSL) o
orientation : Jj[q] °
N = normal

R

rotate 90 degrees clockwise

I

invert 180 degrees

B = read from bottom up-270 degrees

size : FEEE AU o

1:10px-
2 : 20px °
3 : 30px °
4 40px °
5 50px -
6 - 60px °

data : SCAER} o



AX[a]
K0 R BHIE -

B
mZPL.start();
mZPL.printData("ACI14\r\n")//%|E[J-P SCHFEE B A2 A]
mZPL.printText(“0”,”0",5,”N”,3,” TEXT");

mZPL.end();



3.21 FIEIBEMTI /]
PR
int PQ(String g,String p,String r,String o)
S8
q:5ENEE
pE{FE R V] JRTEE
BSAEISETHNEIRN
o: Y] JJEEE F
Y:¥]7]
N E
(e
KL 0+ IER » SRR -
B+
mZPL.start();
mZPL.printData("ACl14\r\n")//F | E  SCF R H A GE &)
mZPL.printText(“0”,"0”,5,”N",3,"TEXT");
mZPL.PQ(1,1,1,Y);//FE]l—5&R& V] T]

mZPL.end();



3.22 FIENEZ

PRIEE -
int setPrinterModel(String model)
2 :
model:
T = ik
P = #lEE (£ S-300 EARATH)
x4 [E]
KIR 0 IEH - BRIEE -
B+ -

mZPL.start();

mZPL.printData("ACI14\r\n")//F|E[] -p & ZE S A S ]
mZPL.printText(“0”,”0”,5,”N",3,” TEXT"”);
mZPL.setPrinterModel(“P”);//VJHA LR F|EfAE =,

mZPL.end();



3.23 2 _A_RFID
T
int writeRFID(int address, int memory,byte[] data)
2 :
address : FEaathl - #E ¢ KR 0 - (EPC E@HihELJETE 2 BR4A)
memory : B A&, (o=wE 1 2 epc @ 3 & User @)
data : FEE AHYER! o (fREE > EPC R 12 [Efi7T4H > User [ 128)
X[e]
-1 BRI -2 T S2EEES > 00 AR -
B
mZPL.start();
mZPL.writeRFID(0,1,"Test RFID".getBytes());

mZPL.end();



3.24 :5HY{ RFID
T
byte[] readRFID(int address,int length,int memory)
S8
address : FEaathl - #E ¢ KR 0 - (EPC E@HihELJETE 2 BR4A)
length : FEEHYVRIE © ({R&IE > EPC il 12 (B T4 > User R 128)

memory @ B A, (o=@ 1 2 EPc @52 2 TID & 3 2 User )

B
HIEIEE 2R -
BT -
mZPL.start();

mZPL.writeRFID(2,1,"H1 7 ".getBytes("GB2312"));
mZPL.readRFID(2, 4, 1);
mZPL.end();
byte[] bytes = mZPL.ReadData(3);
if (bytes!=null&&bytes.length>0){

String hexStr = new String(bytes);

byte[] hexByte = UtilityTooth.hexToByte(hexStr);
Toast.makeText(thisCon,newString(hexByte,"GB2312"),

Toast.LENGTH_SHORT).show();

}



